
6106 6106.5 6107 6107.5 6108
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

1−

0.5−

0

0.5

1

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

6381

6381.5

6382

6382.5

6383

6383.5

6384

6384.5

6385

ru
n

run:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6383}



6106 6106.5 6107 6107.5 6108
cyclenum

103.8−

103.6−

103.4−

103.2−

103−

102.8−

102.6−

102.4−

102.2−

102−

101.8−

101.6−

us
l_

1X

usl_1X:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

1.8−

1.6−

1.4−

1.2−

1−

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

49.6

49.8

50

50.2

50.4

50.6

50.8

51

51.2

51.4

51.6

51.8

us
l_

4e
X

usl_4eX:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

20.5

21

21.5

22

22.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

42.5−

42−

41.5−

41−

40.5−

us
l_

12
X

usl_12X:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

6381

6381.5

6382

6382.5

6383

6383.5

6384

6384.5

6385

ru
n

run:cyclenum {run == 6383}



6106 6106.5 6107 6107.5 6108
cyclenum

159.5−

159−

158.5−

158−

157.5−us
r_

1X

usr_1X:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

2.5

3

3.5

4

4.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

228.6

228.8

229

229.2

229.4

229.6

229.8

230

230.2

230.4

230.6

230.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

17

17.2

17.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

46.5−

46−

45.5−

45−

44.5−

us
r_

12
X

usr_12X:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

6381

6381.5

6382

6382.5

6383

6383.5

6384

6384.5

6385

ru
n

run:cyclenum {run == 6383}



6106 6106.5 6107 6107.5 6108
cyclenum

31334

31334.5

31335

31335.5

31336

us
l_

co
il1

usl_coil1:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

6319

6319.2

6319.4

6319.6

6319.8

6320

6320.2

6320.4

6320.6

6320.8

6321

6321.2

us
l_

co
il3

usl_coil3:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

4217

4217.5

4218

4218.5

4219

us
l_

co
il4

usl_coil4:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

1255.8−

1255.6−

1255.4−

1255.2−

1255−

1254.8−

1254.6−

1254.4−

1254.2−

1254−

1253.8−

1253.6−

us
l_

co
il6

usl_coil6:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

16264.5

16265

16265.5

16266

16266.5

us
l_

co
il7

usl_coil7:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

6381

6381.5

6382

6382.5

6383

6383.5

6384

6384.5

6385

ru
n

run:cyclenum {run == 6383}



6106 6106.5 6107 6107.5 6108
cyclenum

27597.5−

27597−

27596.5−

27596−

27595.5−us
r_

co
il1

usr_coil1:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

5322.5−

5322−

5321.5−

5321−

5320.5−

us
r_

co
il3

usr_coil3:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

4672

4672.2

4672.4

4672.6

4672.8

4673

4673.2

4673.4

4673.6

4673.8

4674

4674.2

us
r_

co
il4

usr_coil4:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

642−

641.5−

641−

640.5−

640−

us
r_

co
il6

usr_coil6:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

20549

20549.5

20550

20550.5

20551

us
r_

co
il7

usr_coil7:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

6381

6381.5

6382

6382.5

6383

6383.5

6384

6384.5

6385

ru
n

run:cyclenum {run == 6383}



6106 6106.5 6107 6107.5 6108
cyclenum

443.5−

443−

442.5−

442−

441.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

72.5−

72−

71.5−

71−

70.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

22.2

22.4

22.6

22.8

23

23.2

23.4

23.6

23.8

24

24.2

24.4

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

473.5−

473−

472.5−

472−

471.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

90.4−

90.2−

90−

89.8−

89.6−

89.4−

89.2−

89−

88.8−

88.6−

88.4−

88.2−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

20.5

21

21.5

22

22.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6383}



6106 6106.5 6107 6107.5 6108
cyclenum

174

174.2

174.4

174.6

174.8

175

175.2

175.4

175.6

175.8

176

176.2

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

35.5

36

36.5

37

37.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

10−

9.5−

9−

8.5−

8−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

184

184.5

185

185.5

186

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

27.4−

27.2−

27−

26.8−

26.6−

26.4−

26.2−

26−

25.8−

25.6−

25.4−

25.2−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

8.5−

8−

7.5−

7−

6.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6383}



6106 6106.5 6107 6107.5 6108
cyclenum

237.5−

237−

236.5−

236−

235.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

83.8−

83.6−

83.4−

83.2−

83−

82.8−

82.6−

82.4−

82.2−

82−

81.8−

81.6−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

0.5

1

1.5

2

2.5

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

4

4.5

5

5.5

6

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

429−

428.5−

428−

427.5−

427−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6383}

6106 6106.5 6107 6107.5 6108
cyclenum

6381

6381.5

6382

6382.5

6383

6383.5

6384

6384.5

6385

ru
n

run:cyclenum {run == 6383}
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